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1)Vypoiitajte :

Itog +'lzzi:

^lt++ + 6.^/25 =

G4 - r/+o6 + 'lzl9 =

3. JB1 + 7.116 --

B.{100 - 5.,{144 =

6.rlT44 - 3...11,69 * 4.dL96 =

W + 3.'^164 --

z.'rl1z5 * 6.'^lzt6=

2) Vypoditajte :

3.52 + (2.7)2 =

(3. 5)' * 2.72 =

3.52 + 2.72 =

5.V81 -3.s2 =

gl-ta1z * 33 =

VB1:3 * 23 =

J&t9 *23 =

rET: (3 + z)3 -
3) Vypoditajte, zlomok upravte na zdkladn'i tvar:

",1a4 +.,,Ee

^lT6

'164 - 'lT6

^lT6

/E +./:6
W

VE - J36

-=

1.164

=,l0s - 3.Vro

7.'lrG - 3.'\,E43=

\,8.10+5+V115*4:

lTo+ze.Gs-s=

3fi50 - 2s.3fibo-l 12 =

3,ln-.s1144 - 1=

\tTzs - zs.30oo + 16 =

fioo + x,3lToo + r43 =

7.W * 4.23 =

th6:z * 33 =

V36:9 * 35 =

(^h6:2)2 * 33 =

(/Bl9 + 2)3 =

'lz7:3 + 22 =

VB1'3 *22 =

(VB1:3 + 2)2 :

{a - z.'h6

-=

,G4

;,lrG-\m
,164 -'lB
?,1T6-"lT
.[G + ..lzs

1,m5 - Jl6
,164 - ila
'rlzl,o + ...l+g
-:--:----=-=
',1r25 - lB'Jsn


